x—y=3
@ y

2x — 2y

2x+y=5
3 y

x+2y=4

6x—2y=4
® Y

i)
rlo

®

pa)

2x—y=1
dx=2y—-2
xX=y+2
3x-3y=4






@ (11, 12) ® (-1, -2)

® (1, 2)

® (-11, -12)
@ (-11, 12)



A=A A 0.6x + 0.5y = 2.8
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DO x=-2,y=3
@ x=-3,y=-2

® x=3, y=-2

o o4E Fota?

@ x=3,y=2

@ x=2 y=-3
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0.3x — 0.5y = 1.9 ]
6. AueENL, s o7t (0. b) S a-b O P&
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0.3x — 0.4y = 0.4
0.2x+ 0.3y = 1.4

2]HpA A) { O 7}t (a, b) D W, a+b 2] F



AP AL x4+ y+8=3x—y=>5x+y 2 =2

O x=2y=-2

@x:—?,,y:l

@x=1y=2

@ x:4’y:—2

@ x:_l’y:2






AUYAA x4y = 20—y =6 oA x, y o] e

@ x=3,y=-1 ® x=4,y=2

O x=1y=2

® x=2y=2

=4

@ x=-2,y



